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LAEKT

[ F—L% B ) =] Ba | #A | &K | #&s
1 [V T7—/#MBJr 22 0 0 66 | 164 7 | 157
2 |RE[EFC 17 1 4 52 91 20 71
3 |EHESS 16 1 5 49 84 39 45
4 |TRRLZiEH 13 3 6 42 58 40 18
5 |REEFJSC 12 3 7 39 45 40 5
6 |FEADESC 10 2 10 32 46 40 6
7 |ERBSC 9 4 9 31 36 36 0
8 |FCEHEVIVO 9 2 11 29 53 51 2
9 |DUH=K 7 2 13 23 45 93 | -48
10 |TRARSVHFC 3 2 17 11 14 74 | -60
1 v T4SC 2 0 20 6 20 | 109 | -89
12 (av/8=z0O 2 0 20 6 18 | 125 | -107
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SAERT

s F— L% B ) =] Ba | ®A | k& | BxE
1 |[FRMEKFC 11 1 0 34 51 10 41
2 |FEMpR 8 1 4 25 28 14 14
3 [{BERUYNILT 8 6 24 44 25 19
4 |RFS5—IMAFSCATHE 7 2 5 23 33 17 16
5 |#FT)IISSD 7 2 5 23 32 20 12
6 |REVA—XFC 5 0 9 15 35 42 -7
7 |ZTURFUH 3 0 10 9 17 58 | -41
8 |AfFC 2 0 12 6 19 73 | -54




